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Q. Answer Mark Additional Guidance
1. a) 85 1 A:1

b) 440 1 A:1

c) 396 1 A:1

d) 104 1 A:1

e) 5.7 1 A: 1

f) 24.5 1 A1

) 24 1 A: 1

h) -5 1 A:1
2. a) 1,40r9 1 A:1

b) 11,13,17 or 19 1 A1

c) 22 1 A:1

d) 39 1 A:1
3. a) 70 1 A:1

b) 900 1 A:1

g) 4981 1 A1
4. a) 8 1 A:1

b) 20 2 M: 1 for 16 seen

A: 1 for answer

5. a) 2000 1 A:1

b) 500 1 A:1

C) 3100 1 A:1

d) 500 1 A:1
6. a) ¢ 1 A:1

b) ¢ 1 A1
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Answer

Q. Mark Additional Guidance
7. Q) 1h 35min 2 A: 2 allow 95 minutes
—
b) i) | 1137 1 A1
ii) | ferry B 1 A: 1 allow 11:50a.m.
8. a) 18391 2 A:2
b) 43 2 A:2
9. 12 months 2 M: 1 for attempt to divide
110 by 9
A:1
10. 15cm® 2 A: 1 for 15
A: 1 for cm®
11.a) £375000 2 M: 1 for 50% = 150000
or similar
A: 1 for answer
b) 24m? 2 M: 1 for 1 x base X
height
A: 1 for answer
G) £184 3 M: 1 any attempt to split
shape to find areas

M: 1 for 46m?

A: 1 for answer

S.A. 281201M03




[—

68
67 [iis. i
66 |

UK population, 651

in millions

62 ¢

Q. i Answer Mark Additional Guida,\,;;‘
12.a) 63.4 million 1 At
b) i) | point plotted at 67.1 million 1
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year
i) | 14.7 million 2 M: 1 for 67.1 — 52 4
A: 1 for answer
13.a) B 2 A:1forB o
B costs 69p per can, A costs 70p per can A: 1 for clear explanation
and C costs 75p per can
b) i) | 320g 1 A:1
ii) | 4.8kg 2 M: 1 for 4800¢g
A: 1 for answer
14. £28 2 M: 1 for valid attempt
A: 1 for answer
15.a) i) | 15, 11 2 A: 1 for each
i) | —1 2 A:2
b) 19, 25 2 A: 1 for each
c) 7 2 M: 1 for 14 seen
A: 1 for answer
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Q. Answer Mark | Additional Guidance
16. 7 2 M: 1 for valid attempt
- A: 1 for answer
17.2) 20p 2 M: 1 for 450 seen
A: 1 for answer
/_—‘—f
j |t 1 | A
]
c) 20 2 M: 1 for 2 = 8 sweets or
M: 1 for 1 = 4 sweets
A: 1 for answer
18. 2 A: 1 for two correct
1 8 3 9 1 | A: 2 for four correct
2 25 4 8 1§
0.75 0.5 1.2 1125 0.32
19.89) |5 2 |[M:1for2
A: 1 for answer
b |13 2 [M:1for¥d
A: 1 for answer
20. _ 6 A: 1 for each correct
answer
the sum of angles e
around a point is 360°
opposite angles in a fijo
parallelogram are equal
each angle in a scalene
triangle is 60° false
all rectangles have false
4 lines of symmetry
a trapezium will never
contain a right angle lalsa
a hexagon has 6 sides true
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Q. Answer Mark Additional Guidance
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21.a) 3 A: 1 for each correct
@ answer
7.1 9.6
@ 141 @
b) 3 A: 1 for each correct
answer

9 S
accept 75 and 5

ol
(LILN)

c) i) 4 A: 1 for each correct
Q answer

3a+6b 14b

3a 8b
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Q. Answer Mark Additional Guidance
22.8) 3 A: 1 for each correct
S) 9 digit
9
5 3
b) i)|93 %75 2 |A2
Total 100
N
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